12”0011 (K12n0011)

5 C/ ’j\‘“ Linearized knot diagam
S R
(2

{\ 3 5 6 8 2 11 5 6 12 7 10 9

\
\\1 Solving Sequence

57 —>8->411-6—>3—>2—1—>10~> 12 > 9 —> C5,C8,C12
Ccr Cyq Ce C3 C2 €1 €0 €11 C9

Ideals for irreducible component#ﬂ)f Xpar

I = (—5.71616 x 10%9u37 4+ 1.11175 x 10 + - .. 4+ 3.33891 x 10"b + 1.88016 x 1072,
4.07046 x 107037 — 5.21445 x 107036 + - - - +1.33556 x 10™%a — 1.19377 x 1073,
u?® — w7 4+ 128u + 256)

IV = {(a, 1807 — 2605 + 120° — 780" 4 7103 + 300% 4 190 + 6v — 2, v® — 207 + 05 — 40® + 60" + 0> — 202 — v + 1

* 2 irreducible components of dim¢ = 0, with total 46 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I = (—5.72 X 10%437 4+ 1.11 X 107436 4 ... 4 3.34 X 107%b + 1.88 X
1072, 4.07 x 107%u37 — 5.21 x 107%u3% + ... +1.34 x 10"3a — 1.19 X
1073, u3® — w37 4 ... + 128u + 256)

(i) Arc colorings

e ()

)
#)
)

—0.00304774437 4+ 0.00390431:36 + - - - — 2.13353u + 0.893835
0.00171198u3" — 0.00332968u36 + - - - — 0.453692u — 0.563107

0.00130957u3" + 0.00189335u6 + - - - — 1.90974u + 2.64338 )

ag = ( 0.00109847u*" + 0.00183184u¢ + - - - — 0.794202u — 0.211610

a7 =
ag =

Ay =

a3 = \0.00112443u3" — 0.000480799u36 + - - - + 0.826261u + 0.801763

0.00359002u3" — 0.00745031u36 + - - - + 4.56333u — 0.957202 )

0.00359002u37 — 0.00745031u36 + - - - 4+ 4.56333u — 0.957202 )

ag =

0.00209211u37 — 0.000172711u3¢ + - - - + 0.401334u + 1.79000

—0.000952567u" — 0.000976781u3¢ + - - - 4+ 1.86076u — 2.03505
0.000357004u37 + 0.000916565u0 + - - - — 0.0489786u + 0.608337

—0.00133576u37 + 0.000574632u36 + - - - — 2.58722u + 0.330728
0.00171198u37 — 0.00332968u3% + - - - — 0.453692u — 0.563107

0.000400109u37 + 0.00305192u36 + - - - — 3.11755u + 1.84992
a12 = \ 0.00136835u3" — 0.000426605u3% + - - - — 0.970171u — 0.257429

(O.()O?)13189u‘37 +0.00425632u36 + - - - — 0.691749u + 0.425379)
ag =

ayp =

—0.00175985u37 + 0.00256836u6 + - - - + 0.691063u — 0.518052

(ii) Obstruction class = —1

(iii) Cusp Shapes = —0.0107565u>" + 0.0115767u36 + - - - — 16.3471u — 2.84993



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! w3+ 9udT -+ 15u+ 1
C2,C5 w453+ 4 3u+ 1
c3 u?® — 5udT - 4 90147u + 15489
C4,Cr w3 — w3 4+ 128u + 256
C6, C10 uB 33T —ut1
Cs w30 a1
Cg9,C11, C12 w3 — 11+ = 1lu+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1 Y2 4+ 4537+ + 91y + 1
€2,C5 Y +9y% T+ 4+ 15y + 1
Cc3 38 37
Yo 4+ 81y”" 4 - - - + 7556564583y + 239909121
38 37
C4,C7 Yo" +45y°" 4 - - - + 344064y 4 65536
C6, C10 v 11T 1y + 1
cs y*® — 657+ + 11y + 1
€9, C11, C12 3 4355+ + 131y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.801035 + 0.6954631
= 0.79350 — 1.468061
0.025706 + 0.9009271

2.72429 — 1.495801

6.88383 + 3.007561

0.801035 — 0.6954631
0.79350 + 1.468061
0.025706 — 0.9009271

2.72429 + 1.495801

6.88383 — 3.007561

—0.213839 + 1.1351701
—0.421285 — 0.6681761
0.784497 + 0.8229821

—4.44084 + 0.934361

—3.64457 — 1.203531

—0.213839 — 1.1351701
—0.421285 + 0.6681761
0.784497 — 0.8229821

—4.44084 — 0.934361

—3.64457 + 1.203531

= —1.159340 + 0.1488851
= —1.361450 + 0.0306331
—0.708036 + 0.8331171

—1.60611 — 0.167171

—2.00112 — 0.516911

—1.159340 — 0.1488851
= —1.361450 — 0.0306331
—0.708036 — 0.8331171

—1.60611 + 0.167171

—2.00112 4 0.516911

—0.358418 4 0.7349041
1.30197 + 2.318891
—0.136751 — 0.8224641

1.16926 — 3.174471

5.84543 + 3.289271

—0.358418 — 0.7349041
1.30197 — 2.318891
—0.136751 + 0.8224641

1.16926 + 3.174471

5.84543 — 3.289271

0.183194 + 1.2073401
= 0.229775 + 1.020680.1
0.677081 — 0.8785961

—0.69910 + 2.611271

1.65431 — 3.008591

0.183194 — 1.2073401
= 0.229775 — 1.0206801
= 0.677081 + 0.8785961

>~ Q@ €|l & €| & €| Q& €| & €| & €| & &> & 8| & 8| & &
Il

—0.69910 — 2.611271

1.65431 + 3.008591




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.083408 + 1.2186407
0.31884 — 1.607991
0.755833 + 0.9324261

—4.10208 — 6.743601

—2.53206 + 6.497841

0.083408 — 1.2186407
0.31884 + 1.607991
0.755833 — 0.9324261

—4.10208 + 6.743601

—2.53206 — 6.497841

1.262280 + 0.1104101

= —1.310290 + 0.2319351

—0.705134 — 0.9098411

—1.36537 — 5.588391

—0.94341 + 6.042681

1.262280 — 0.1104107
—1.310290 — 0.2319351
—0.705134 4 0.9098411

—1.36537 + 5.588391

—0.94341 — 6.042681

—0.533596 + 0.4169881
—0.970594 — 0.0912121

= —0.856400 + 0.8897301

—7.10344 + 1.959191

—5.95273 — 5.248661

—0.533596 — 0.4169881
—0.970594 + 0.0912121
—0.856400 — 0.8897301

—7.10344 — 1.959191

—5.95273 + 5.248661

0.525705 + 0.4229441
—0.981407 — 0.1652291
—0.842922 4- 0.9297191

—6.97962 + 4.354331

—5.02974 + 0.367001

0.525705 — 0.4229441
—0.981407 4 0.1652291
—0.842922 — 0.9297191

—6.97962 — 4.354331

—5.02974 — 0.367001

—0.437849 + 0.5123051
0.779426 + 0.4274051
0.391315 — 0.4791891

—0.621022 4 1.2453001

—4.66633 — 4.676961

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
|

—0.437849 — 0.5123051
0.779426 — 0.4274051
0.391315 + 0.4791891

—0.621022 — 1.2453001

—4.66633 + 4.676961




Solutions to I}

V=1(vol + y=1CS)

Cusp shape

= 0.517700 + 0.2955611
= 0.655146 + 0.8624091
= 0.360279 — 0.8131171

0.31192 4 1.823411

0.28789 — 3.694901

= 0.517700 — 0.2955611
= 0.655146 — 0.8624091
= 0.360279 + 0.8131171

0.31192 — 1.8234171

0.28789 + 3.694901

= —0.304409 + 0.4980731
= 1.074620 — 0.3352601
= —0.237341 — 0.2664561

—0.29515 4 1.551771

—2.39420 — 5.361721

= —0.304409 — 0.4980731
= 1.074620 + 0.3352601
= —0.237341 + 0.2664561

—0.29515 — 1.551771

—2.39420 4 5.361721

= —0.54647 4 1.644801
= 0.0641318 4+ 0.08637281
= 0.904591 + 0.7482021

3.59603 + 6.552521

= —0.54647 — 1.644801
= 0.0641318 — 0.08637281
= 0.904591 — 0.7482021

3.59603 — 6.552521

= 0.34197 + 1.699651
= 0.1067440 + 0.02563391
0.889409 — 0.7150741

4.26554 + 0.003261

= 0.34197 — 1.699651
= 0.1067440 — 0.02563391
= 0.889409 + 0.7150741

4.26554 — 0.003261

= —0.13035 + 1.765731
= —0.0597378 — 0.04045591
= —0.799015 — 0.0324151

8.11017 4 3.326481

= —0.13035 — 1.765731
= —0.0597378 4 0.04045591
= —0.799015 + 0.0324151

8.11017 — 3.326481




Solutions to I3

V=1(vol + y/=1CS)

Cusp shape

= 0.62652 + 1.704161
= 1.02467 — 1.151191
= 0.788823 + 1.0276401

4.47409 — 12.815001

= 0.62652 — 1.704161
= 1.02467 + 1.151191
= 0.788823 — 1.0276401

4.47409 + 12.815001

= —0.43365 + 1.798251
0.88940 + 1.142931
= 0.765371 — 1.0320901

5.25384 + 6.127031

—0.43365 — 1.798251
0.88940 — 1.142931
0.765371 + 1.0320901

5.25384 — 6.127031

0.32788 + 1.906981
= —0.52275 + 1.626681
= —0.300160 — 1.0970601

11.67940 — 7.065761

= 0.32788 — 1.906981
= —0.52275 — 1.626681
= —0.300160 + 1.0970601

11.67940 + 7.06576.1

= —0.05179 + 1.950401
= —0.36069 — 1.639931
= —0.257145 + 1.1022001

11.94710 4 0.171511

= —0.05179 — 1.950401
= —0.36069 + 1.639931
= —0.257145 — 1.1022001

> Q@ €| Q@ €| & €| & €| & 8| & | & 8| & &
|

11.94710 — 0.171511




=

(i) Arc colorings

()

as =
= (o)
1
ag = 0
v
aq = 0
0
—0.94736807 + 1.36842v° + - -
1
as = \ —1.26316v7 + 2.15789v5 + - -
0.368421v" — 0.421053v6 + - - -
a3 = \0.263158v7 — 0.15789506 4 - - -
0.0526316v7 + 0.36842105 + -
az =\ 0.263158v7 — 0.15789506 + -
-1
a1 = \1.26316v7 — 2.15789v° + -
—0.947368v7 + 1.3684206 + - - -
—0.947368v" + 1.36842v% + - - -
—0.789474v7 + 1.47368v° + -
a12 = \ —1.73684v7 + 2.8421105 + -
1.2631607 — 2.1578906 + - - -
a9 = \(0.473684v" — 0.684211v°% 4 - -

(ii) Obstruction class =1

23,7

(iii) Cusp Shapes = —fjv" —

D06 4 8145 4 49,4 4

II.

(a, 1807 —26v8+...4+19b—2, v® — 207+ v —4v% +6v* +v3 — 202 —v+1)

—0.315789v + 0.105263)

—0.421053v + 1.47368)

+ 0.789474v — 1.26316
+ 2.42105v — 0.473684

-4 0.684211v — 0.894737
-+ 2.42105v — 0.473684

-+ 0.4210530 — 1.47368)

—0.315789v + 0.105263
— 0.315789v + 0.105263

— 0.263158v + 2.42105
— 0.578947v + 2.52632

+ 0.421053v — 0.473684
+ 0.157895v + 1.94737

94 .3

208, 2
S TR 9”"’19



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C3,C5 (u* —u+1)*
Co (u® 4+ u+ 1)
C4,C7 u®
Co (ut 4+ ud +u? 1 1)2
€8, €11, C12 (u* —u? 4+ 3u? — 2u +1)?
Co (u* + u® + 3u® + 2u + 1)?
C10 (u4 —ud+u+ 1)2

10



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 (y2+y+1)4
Cs
ca, 7 y®
Cg, C10 (y4 +y3 +3y2 +2y+ 1)2
Cg, C9, C11 (y4 + 5y3 + 7y2 + 2y 4 1)2
C12

11



Solutions to I7

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y=1CS)

Cusp shape

0.576953 + 0.2830881
= 0
= —0.851808 — 0.9112921

—6.79074 — 1.134081

—2.09237 — 2.487621

= 0.576953 — 0.2830887
= 0
= —0.851808 + 0.911292]

—6.79074 + 1.134081

—2.09237 4- 2.487621

= —0.533637 + 0.3581121
= 0
= —0.851808 — 0.9112921

—6.79074 — 5.193851

—2.75261 4 7.887311

= —0.533637 — 0.3581121
= 0
= —0.851808 + 0.9112921

—6.79074 + 5.193851

—2.75261 — 7.887311

—  1.54112 + 0.214927
= 0
= 0.351808 — 0.720342]

0.211005 — 0.6147781

2.55284 — 0.895201

— 154112 — 0.214927
= 0
= 0.351808 + 0.720342]

0.211005 + 0.6147781

2.55284 + 0.895201

= —0.58443 + 1.442111
= 0
= 0.351808 + 0.7203421

0.21101 — 3.444991

—2.20786 + 6.974751

= —0.58443 — 1.442111
= 0
= 0.351808 — 0.7203421

0.21101 + 3.444991

—2.20786 — 6.974751

12



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (W —u+ )N W +90* + -+ + 15u + 1)
C2 (W4 u+ D)MW + 50> + - +3u+1)
€3 (u* —u+ 1)) (u® — 5637 4 -+ +90147u + 15489)
Ca,Cr ub(u®® — w7 4 -+ 128u + 256)
CS (u? —u+ )Y + 50 + - +3u+1)
6 (u* +u® +u® + D)W + 30+ —u+1)
s (u* —u® +3u® —2u+ D)) W +3u3" + - Fu+1)
€9 (u* 4%+ 3u® +2u+ 1)) (W — 11437 4+ - — 11u 4 1)
€10 (u* =+ + D)W + 30+ —ut1)
c11,C12 (ut —u® +3u® = 2u+ 1)) (W — 11457 4+ - — 11u+ 1)

13



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
“ (P +y+ 1YW +45°T + - 4+ 91y + 1)
e2,C5 ((v* +y+ D> + 99 + - + 15y + 1)
€3 (1 +y+ 1Y (W% +81y° + -+ 4+ 7.55656 x 10%y + 2.39909 x 10°)
Ca,Cr v (y>% 4+ 45y°" + - - + 344064y + 65536)
C65 10 (' +9° +30° + 20+ 1)*) (™ + 119" + - + 11y + 1)
cs ((y* + 5y + 79> + 2y +1)*) (4™ — 659> + - + 11y + 1)
Co, €11, Cl2 (459 + 7% + 2y + D) (4> +355°" + - + 131y + 1)

14



